— vy rn5— (KSC-SL)

- @TEFXNo. &M

KSC061OSL
L______T______J

%7 bHAS—No.

2XR

¥ RTOTYRRIAZILTT-VUE

DUBROBEECRES 5> T
RTHERICRMAFFENET.

Oy v T7hhS5— 'U"flﬁ

T e 7 ) A K T

= 7J\

— o KSC 0308-SL M 3 M3X 8 1
KSC 0408-SL 4 8 15 'M 3|M3X 8|34 3 1 45/ 3 | 45 10 540
KSC 0508-SL 5 8 20 'M 3|M3X10|34 3 1 6 4 |7 18 580

— KSC 0510-SL 5 10 20 |M 4| M4X10|4.5 3.75/1 6 4 | 6 22 580
KSC 0608-SL 6 8 20 'M 3|M3X10|34 3 1 6 4 |6 17 580
KSC 0610-SL 6 10 20 M 4 M4X10| 4.5 3.75 1 6 4 | 6 22 580
KSC 0808-SL 8 8 25 'M 3| M3X10|34 3 15 8 5|7 27 650
KSC 0810-SL 8 10 25 'M 4 M4X12 45 3.75/15 | 8 5 (9 33 650
KSC 0812-SL 8 12 28 |M 5|M5X16|55 45 15| 85 5 |10 51 650
KSC 0815-SL 8 15 30 M 6 M6X15/7 |6 15| 9 5 |10 73 650
KSC 1010-SL 10 10 30 |M 4|M4X12|45 375 15| 9 5 1 47 700
KSC 1012-SL 10 12 30 |/M 5|M5X16|55 45 15| 9 5 1 56 700
KSC 1015-SL 10 15 35 'M 6 |M6X18|7 |6 1.5 |10 6 |12.5 99 700

— =5 KSC 1210-SL 12 10 30 |M 4| M4X12|45 3.75/15 |10 5 1 63 700
KSC 1212-SL 12 12 30 |/M 5|M5X16|55 45 1.5 |10 5 |1 53 700
KSC 1215-SL 12 15 35 'M 6 M6X18|7 |6 1.5 |11 6 125 95 700
KSC 1310-SL 13 10 30 |M 4|M4X12|45 3.75 1.5 |10 5 (11 43 750
KSC 1315-SL 13 15 35 |M 6 M6X18|7 |6 1.5 |11 6 |12.5 93 750
KSC 1510-SL 15 10 32 'M 4 M4X12 45 3.75/ 15 |11 6 |11 47 850
KSC 1512-SL 15 12 35 |M 5|M5X16|55 45 15 12 6 |13 70 850
KSC 1515-SL 15 15 40 |M 6 M6X20 7 |6 1.5 |13 8 |13 120 850
KSC 1610-SL 16 10 35 |M 4| M4X 12|45 3.75/ 1.5 |12 6 |13 57 850
KSC 1612-SL 16 12 35 |M 5|M5X16|55 |45 1.5 |12 6 |13 68 850

O 438



